AP LINE

cmatic SBARIEEL

PNEUMATIC FITTINGS “MiX" PUSh'|n Flttlngs

HEA/ENERSERS MRS R RIEEL | ZMRAELSE  Pushin Fittings made of a materials "MIX”, brass and Technopolymer. This line offers
MELEMRS , AT mELE, a more competitive priced fitting then the whole brass version, without affecting the
Fittings performance.



e

HHERERH X IR i E
Body Release and Holding Ring Gr|pp|ng Collet Seals
R EMUNI EN 12164 CW614N - UNI EN 12165 CWB17N  FEEEHfE (POM) AISI 301744 (POM) NBR
Brass UNI EN 12164 CW614N - UNI EN 12165 CW617N Nickel Plated Acetal Resin (POM) Stainless steel AlSI 301 (POM) NBR

] S NELRE
a2 ™

-20°C-70°C & A20 bar -99 KPa

N\

M5x0.8 M12x1.5 G1/8

4 ° °

6 ° ° °

® .
Er 10
12

G1/4 G3/8 G1/2 R1/8

R1/4

R1/2

BRARME

BIAERER

PA11, PA12, PA6, PERZ. PUREE (98 Shore A) .
AESNERAE

+/-0.07 mm , {RAER 10 mm

+-0.1 mm , EEM12E] 14 mm,

BIF
SRS

34

DATA SHEET

Recommended tubings:

PA11, PA12, PAB, Polyethylene PE, Polyurethane PU (98 Shore A).

Acceptable Tolerances on the tubings:
+/—0,07 mm up to @ 10 mm
+/—0,1 mm from @ 12 up to @ 14 mm.

Application fields:

Pneumatic circuits.



BERBAARE Tubing insertion depth

L BERDe L
4 134
6 16.4
— gEan)) 8 165
i 10 187
12 201
1 3

B 0L] ASSEMBLY INSTRUCTIONS

1REREBEYE (ERATCUTERY D), MIANABEEZEER , FAEE 1. Cutthe tube square (by means of a hose cutter i.e. our TCUT) making sure that no burrs are

BRERBEEWNER. left and that the tube is not oval.

2 ERBAEL , BRENL, 2. Insert the tube into the fitting until it bottoms.

KHERK: Tube release

EEZRERKR , BNREERET, While pressing on the release ring, pull out the tube from the fitting.

r
r
r

SERERE , FRAER EFEIND ; A FRARERERNR

Once the tubing is connected to the fitting, make sure that the tubing is not subject

& NEHERFEIEMEIBIZHE. A to any tensile strength and that the min. recommended bending radius stated in the
tubing section of this catalogue is complied with (see page 335).
RTBEERBNANE , EADEIITEZABRIN. ERERBE To prevent any accidental tube release, no components have to come in touch with
FE@EAD , BEMES , HUESHERENLE. the release ring and exercise any unwanted pressure on the same. Indeed however lateral, any
BEUTEN , B EEATI HWETRE, load on the release ring may cause the tube disconnection.

To tighten threads, please check out our tightening torque chart illustrated at page 6.

35




Parallel Straight, male

e EfQe D1 D2 D3 L1 L2 CH1  CHz g 60
1204 M5 4 M5x0.8 9 8 4 19 - 25 46
12 06 M5 6 M5x08 12 8 4 2 - 25 86
1206 M12x15 6 Mi2x15 12 15 6.5 2 12 4 12.9
120418 4 G178 9 13 5 185 9 3 6.1
120618 6 G178 12 135 5 195 12 4 9
1206 14 6 G1/4 12 16 6.5 195 12 4 127
120818 8 G1/8 14 13 5 85 13 6 114
120814 8 G1/4 14 16 6.5 75 14 6 135
120838 8 G3/8 14 2 7 21 14 6 201
120812 8 G172 14 % 85 23 14 6 326
121014 10 G1/4 16 16 6.5 275 15 8 17.4
121038 10 G3/8 16 20 7 % 16 8 26
121012 10 G172 16 25 85 255 16 8 345
121214 12 G1/4 19 16 65 85 19 8 262
121238 12 G3/8 18 20 7 285 19 10 289
121212 12 6172 18 % 85 65 19 10 36.1

~2e9.
CH1
]
= CH2
D1
D3
MIRE B
D2
089
CH

L2

L1

D1
D3

Female Straight

e E#Ede D1 D2 D3 L1 L2 CH g 62
130418 4 G1/8 9 13 75 235 9 10
130618 6 G1/8 12 14 75 2% 12 15.1
130614 6 G1/4 12 16 " 30 12 185
130818 8 G1/8 14 13 75 2 14 175
130814 8 G1/4 14 16 1 30 14 202
131014 10 G1/4 16 16 " 32 16 244
131038 10 63/8 16 2 12 335 16 303

AR EEMRAEE X

Parallel Swivelling Elbow Fitting, male

i) E&De D1 D2 D3 L1 L2 L3 CH g 60
16 04 M5 4 M5x08 9 10 4 14 175 9 88

160418 4 G1/8 9 145 5 18 195 13 157
16 06 M5 6 M5x08 12 10 4 14 205 9 1.9
1606 18 6 G1/8 12 145 5 18 2 13 185
16 06 14 6 G1/4 12 16 6.5 25 2 13 08
160818 8 G1/8 14 145 5 18 25 13 2

1608 14 8 G1/4 14 16 6.5 25 225 13 253
160838 8 G3/8 14 20 7 %5 2 16 377
161014 10 G1/4 16 16 6.5 2 2 16 34

161038 10 G3/8 16 20 7 %5 26 16 392
161012 10 G1/2 16 25 85 215 26 16 432
161214 12 G1/4 19 16 6.5 255 285 20 58.5
161238 12 G3/8 19 20 7 26 285 2 56.1
161212 12 G1/2 19 25 85 05 285 N 65.1

36



AIAEERSETRE =@k Swivelling Tee Fitting, parallel
ESEid) ER&ge D1 D2 D3 L1 L2 L3 CH g 60
210418 4 G1/8 9 145 5 18 39 13 202
210618 6 G1/8 12 145 5 18 44 13 25.2
210614 6 G1/4 12 16 6.5 215 44 13 29.1
210818 8 G1/8 14 145 5 18 45 13 307
210814 8 G1/4 14 16 6.5 215 a5 13 336
211014 10 G1/4 16 16 6.5 2 49 16 444
211038 10 G3/8 16 20 7 255 49 16 497
211238 12 G3/8 19 20 7 2 57 20 753
211212 12 G172 19 2% 85 305 57 20 82
AR ERSE TR = @Ek Lateral Swivelling Tee Fitting, parallel
EFiil| BHERDe D1 D2 D3 L1 L2 L3 L4 CH g &0
240418 4 G1/8 9 15 5 18 195 375 13 205
240618 6 G1/8 12 U5 5 18 2 40 13 2
240614 6 G1/4 12 16 6.5 75 2 835 13 295
240818 8 G1/8 14 5 5 18 25 405 13 30
240814 8 G1/4 14 16 6.5 N5 25 M 13 335
241014 10 G1/4 16 16 6.5 2 2 48 16 44
241038 10 G3/8 16 20 7 %5 % 515 16 49
241238 12 G3/8 19 20 7 2 85 545 20 73
241212 12 6172 19 25 85 05 285 59 20 77
Rk Reducer
Eic) ERQe D1 D2 L1 g &2
250406 2 6 9 35 7
250408 4 8 9 335 10
250604 6 4 12 355 10
250608 6 8 12 35 15
250610 6 10 12 365 155
250806 8 6 14 395 135
250810 8 10 14 37 15
250812 8 12 14 39 23
251012 10 12 16 4 20
251014 10 1 16 I 295
51214 12 1 19 43 2
Union
xm B®10e BE20e D2 Ly 062
260404 4 4 9 28 6.8
26 06 06 6 6 12 335 15
26 06 04 6 4 12 31 147
26 0808 8 8 14 34 18
26 08 06 8 6 14 34 21
261010 10 10 16 385 25
261008 10 8 16 365 25.2
261212 12 12 19 ] 36.6

37



R SRk Bulkhead Union
Egil EEPe D2 L1 Lsgx CH g &b
270404 4 Mi2x1 28 1 16 235
2706 06 6 M14x1 34 16 18 33
270808 8 M16x1 34 17 20 395
271010 10 Mi8x1 39 19 22 515
271212 12 M20x1 41 20 24 60
BEAXEEL Union Elbow
HKH ERDe D2 L1 g&d
280404 4 9 175 9
2806 06 6 12 205 165
280808 8 14 25 2
281010 10 16 25 295
281212 12 19 265 485
ETE=BE#X Union Tee
el EREQe D2 L1 L2 RRAY
290404 4 9 175 35 125
2906 06 6 12 20 40 25
290808 8 14 2 2 284
291010 10 16 245 49 39.2
291212 12 19 2% 52 61.3
BBEREEL RS Single Banjo Ring
el ERDe D1 D2 D3 L1 L2 g 62
L2 3504 M5 4 M5 g 10 10 185 77
- 3504 M5 /R 4 7 9 10 10 185 66
. 350418 4 18 9 14 15 205 135
5 i - 81 = 3506 M5 /R 6 7 12 10 10 215 10.1
H N 350618 6 118 12 14 15 25 155
‘ 3506 14 6 1/4 12 18 17 2% 2156
o1 350818 8 118 14 14 15 235 16.7
03 350814 8 1/4 14 18 17 245 228
351014 10 1/4 16 18 17 27 27.2
351038 10 38 16 2 20 29 395
351238 12 38 19 2 20 295 38.8
351212 12 12 19 27 2 315 56.9

/R= AT FREIHTIEF - For flow controls only

38



YR L Y Fitting

EFil) BER10e ER20e D2 L1 L2 g &0
= 370404 4 2 9 295 95 135
37 06 06 6 6 12 36 125 32
3706 04 6 4 12 36 125 36.1
3708 08 8 8 14 375 145 425
37 08 06 8 6 14 375 145 51.1
371010 10 10 16 445 16.5 62.7
371008 10 8 16 44 16.5 749
371212 12 12 19 49 195 95.8

39





